BNVE KR[RBAEEIZL HBIEHR

1. RERFEAEEIZLSHEOHME

BB LT, BEFD 62 2 (1986 ARFE) 5

KEBERNEE [HE2 55 IOk A5ERE
BT CX T, TR 9 4R (1997 4EH) 121
WMEHEEH L, BUEE (HBZ5 28] 10X
DR FORKEREEHE 21T > T D, 2
KRABEEREHIC K20, HREENE
JRIMRFXE T b 5 Hidl O KK EREE DR,
ERERELDORKESHE MR ESTHZ &4 H
e LTWwWa,

(1) REERELHIE O E

W
W T L A= Y RERRA LT
- (&R5m)

3070

QIS




(2) REEBRETHIE EOERE I L OWIE A

(AL 30 47 3 A RBUE)
BEEE BETE - Tk

JE\ ] - BE (WS- WD) EHRK-BERX R)NERETRRSLERT WS-B56
KR (TM) BEEHE )N ERET 2R SAERT TS-3D2
iEE (HUM) EE2X (¥R /NERE SR BLAERT HS-131
“BICLERE (SO,) BHREALE (MRUEIS RUAERR APSA-370
FERFIKYE (SPM) B #RURIRE R FDKK (k) DUB-12
AHFH R 0x) RIMRRURE RABFIER OA-683
ERBIEH(NOY BEXEFERNE (HRYEISRUERR APNA-370
—BibRE FEER B FRHMR UL R (WR)YE 5 HAE AR APMA-370
RAEKFEE (HC) KE\RAF LS E (R BRERR HCM-4A




2. 29 FEFAERR

(1) REHFE R X OREHA - JEEH

@ %= ® B
=z |4 |= | &
i1 |
R omEwa |mmmn| waem | mom |2 g | (F| B )@m) AES
= 3 %18
= it | F | B | 1B | K
5 | #
By | o k|2t |% B
2 5|r|lm|z|85|=
H29. 7. 12~ -
29.1.1 521 |o|lo|o|o|o o
H29.10. 11~ .
e 21 |[o|lo|o|o|o 0
| | EETESE EBNE H29.11. 14 o4 N\AE
TH H2o.11.15~ | o v ol olololo o
H29.12.19 !
H30.1. 10~ -
o001 s2wv |[o|lo|o|o]|o 0
2 | ERmES | EamE |02 R o ERAE R
: cie | snempe [H30.2. 8~ : BEEHMBHRE
3 | ko | — s |l o x2 |olo|lolo]|o O |po iR




(2) JE S ALE X

® —RRIZHFS
0 BeEEPRHIAAER
u

RIERIESEAEHR




(3) TIE RS AL
1) —BRRBICETAREEEFESGKRAET (KETHNE, BEEHRERNEARE 2 —)
T bR, RN IRE . kAR F L b L ERB L O bR FEICH
W, BCEREAEEL ER L T, e, ZELERITOWVTIE, HEHEA 0. 04ppm
PLEDHZY 2 A (0. 045ppm, 0. 040ppm) - 7=7%, ML ZEFEDORERLYETH 5 0. 04ppm
5 0. 06ppm £ THY —2HNIZA->TWD,

2) ERREICEIT5EBEHAREERE (EEHESLTH. OUNLAE)
TR, PR R E . B EERB L OB ERFBICOW TR, BRERANEL E
B LT e, b o 2 ME, EE— TR O 5 B, 13 KFE T, B — T HIHE
oo 1 HIF, 3 IR CERERIEMED 0. 06ppm Z it L7z, 1 KB O s fEiE, FE— 1
H > 0. 086ppm Tdh -7, 7o, M LEEFIT, B — Ik L OMUHAR T, B FA{ES 0. 04ppm
lEoBR, 23 B, 1 HRE®H 722, 2o O H FEEO & EIX 0. 042ppm T
HY . T bEZEORERETH S 0. 04ppm 235 0. 06ppm £ TH Y — L HNIZA->TW5H,

3) EWMBEEROA X Z 2 FEHIIRICH: > BEFHE (ZIRTEASET, ZR /AL
YeAbFA T2 ML, PAERIMY 5 B, 27 FRR CEREEAMEA I Lz, 1 REEE O
e fEE 0. 090ppm TdH - 7=,

(4) HERRE
1) ZERIEERE (S0

g% | Bl F 1EFREMED | B FHEN| 1 KR BH¥EH

sns | PE wim oL o | B oo

B# | B fE B O #%| A8 | &=fE == fE

=| isdE ppm B =] ppm ppm

HiE-1 27 661 0.002 0 0 0.004 0.003
ER - - - - - - -

BHE-I 34 815 0. 001 0 0 0. 005 0.003

BHE- 34 818 0.002 0 0 0. 005 0.003

BHE-IV 217 661 0.002 0 0 0. 005 0.003

Kz 217 660 0.002 0 0 0.007 0.004




2) FlEhF KM E (SPM)

' | A X 1ERES (B FEA | 1 RS EERS
e T 0. 2mg/m* | 0. 1mg/m®
15 4 5 /EJIF FEHE si8st | AE@A 1E+0) 1E'|E+CD
B# | B M B R % B % == B =B
=! BR | mg/m’ B Fid H mg/m mg/m°
HE-1 27 661 0.020 0 0 0.116 0.039
ER - - - - - - -
BHE-I 32 792 0.015 0 0 0.061 0. 031
HE-I 34 818 0.012 0 0 0.068 0. 040
HE-NV 27 664 0.012 0 0 0.098 0.028
Kz 27 663 0.016 0 0 0. 060 0.028
3) HIEEAFIF D F(0x)
B | B B | BEo1 |BR M o|BR B o BRE®O BRED 1
N 1EFREMEAS | 1 BRMED | 4 pxpy BRSED
3B 52 o 5 Al %E Al E REREIED %g;gr Lj 1i:pprg) E o g
B# | B M FHE (B oM B B & ESE DFEHY{E
H B ppm icdi] B il ppm ppm
HE-1 29 408 0.023 13 0 0.082 0. 040
EiR 38 548 0.038 27 0 0.090 0. 051
BHE-I 35 505 0.019 3 0 0.086 0.036
HE-I 35 507 0.018 0 0 0.043 0. 031
HE-V 29 411 0.025 0 0 0.042 0.033
Kz 29 411 0.027 0 0 0.054 0. 040
4) Z“FEEEZEZHR N0y
' | A X 1ERAMEAY | B FOEA | 1 BERE EERS
Je— 7 4 0.1 ppm | 0.04 ppm
15 0 5 B E T H1E S E® |58 E o 1|E+0) 1|E+0)
B# | B E BRI % B # &= B B 1= (B
=| B R ppm B e =] ppm ppm
BiE-1 27 661 0.020 0 0 0. 054 0.033
ER - - - - - - -
BE-I 34 815 0.027 0 3 0.061 0.042
BE-I 34 818 0.023 0 1 0. 060 0. 041
BE-IV 27 661 0.011 0 0 0.043 0.028
Kz 27 660 0.026 0 2 0.071 0. 045




5) —BILERNO) RUEREILY NOX)

A | B8 E 1650 | BEY Ego) Al E 1 B RS BELY T8
5 b Bl E THE | E O | E O Bl E EHE B o E o NO,/
RIERR B | B M i = B SISl B # B FE =B i = B (NO+NO,)
B B 7 ppm ppm ppm B ied] ppm ppm ppm %
BE-] 27 661 0.020 | 0.100 | 0.035 27 662 0.040 | 0.140 0. 061 50. 5%
EiR - - - - - - - - - -
BHiE-1 34 815 0.034 0.155 0.067 34 815 0. 061 0.196 0.104 44. 3%
BiE-TI 34 818 | 0.030 | 0.194 | 0.086 34 818 0.053 | 0.246 0.124 44.3%
HE-V 217 661 0.003 0. 045 0.016 217 661 0.014 0.080 0. 045 76. 8%
KiE 27 660 0.027 0.170 0.061 217 660 0. 053 0.226 0.118 49. 4%
6) —E1kxx (C0)
| B X 8 HRIMEA (B FEA | 1 BFRE EERS
. 20 ppm % | 10 ppm %
SHI TS
s | NE FOE g% nle x| B O | fE O
B# | B E m % | B # B 1= (B B 1= B
H B fiFd ppm B H ppm ppm
BiE-1 217 661 0.2 0 0 0.8 0.4
EiR - | - - - - - -
BE-1 34 816 0.3 0 0 0.9 0.5
BEFE-T 34 818 0.3 0 0 0.9 0.5
BEFE-IV 217 663 0.3 0 0 0.9 0.5
KiE 27 663 0.3 0 0 0.8 0.5




mg/m?

ppm

ppm

(5) MAHIAIERR S T 7

1

) BEE—-1 (BEEMEX2tTH)

FFE A E (sPv)

—— BT

—a— OREE

——FiZE
BFoE

—a—EER
BEEE

—=— BH#E2H
BF9{E

—— BiERR
BHESE

0.12
0.10
0.08
0.06
0.04
0.02
0.00
[ s+ IR ST WY~ T Y - T N -+~ S T o VI » B (U ST~ N Y - T O -+~ T I O o T o 0 B~ S .0 N U+ TR oS +'s B 3
N RN R AR R ARRRRRRRRRRRERR
FFE (o0
0.12
0.10
0.08
0.06
0.04
0.02
0.00
[ IS IR~ N T o TR~ TR S - < TR TR -+ T TR o Vs o T~ N T I Y- I e T DL L T = T D s N~ N T+ TR ¥+ TR S + < I +2 ]
g o do o addegdadaodaddl e w d e 0 E 0 0
e S e e T S N o el e S S S S S N e e e
— f=a=3
ZEEER(NO2)
0.06
0.04
0.02
0.00

T R B N A O N B - I B s B - I - I -
FN RN RN AR AR RRARRRARENRARRRRERRR

—— HFE

—a— HEEE

—a— BER

BFt91E

—B—FF5
BE=E

—s— BHERR
BF1E

—— BHE2H
BEREEE

—k— BT

—a— HEEE

——FER

BFE

—B—-E35
BEEE

—s— BHfEER
BF3E

—— BHEER
BESE




2) EE—-I1 (EEWmentTH)

mg/m?

ppm

ppm

0.10

0.08

0.06

0.04

0.02

0.00

0.12

0.10

0.08

0.06

0.04

0.02

0.00

0.08

0.06

0.04

0.00

SR E (SPM)

1172
11/4
11/6
11/8

10/11
10/13
10/15
10417
10/19
10421
10423
10425
10427
10429
10/31
11/10
11/12
11/14

FFLE 00

10/11
10/13
10/15
10/17
10/19
10/21
10/23
10/25
10/27
10/29
10/31

11/2

11/4

11/6

11/8

TR EER(NO2)

11/10
11/12
11/14

—i— B FHHiE

—a— AEEE

——H2H

BFoiE

—=—FFR
BEEIE

—=— BHEER
BF9iE

—e— BHIEER
BESE

—k— B FiYE

—a— BREE

—— AR

BF91E

—8— 25
HESE

—=— BHIEZR
BF91E

—e BHIERR
BEREE

.
. /
| * ..
! e
* - s m N " _
[} 9. y a
o= \ A
3 . =
. [ = n
-3 ) A
L]
| L g\
A L A A
[ Z = N
A A U
A—A 4 &4
i i P,
— e [l r~ @ — oM 4] r~ @ — o = 1] [vs] <@ ~ =
= — = = — o~ o o~ o~ o™ o T T T T = = —
— s — — s — — st — — — — — — — T T T
=) =) =) =) =) =) =) =) =) =) =) o o — o o — —
— — — — — — — — — — — — — —

—k— HFiiE

—a— HREE

—&— EEE

BF9{E

—8— EEE
BEEIE

—=— BHIEZE
BF9(E

—— BHIEER
HEEIE




3)

0.10

0.08

0.02

0.00

0.08

0.08

EE-I (EEmEnstTH)

ety IR E (SPM)

11/15
11/17
11/19
11/21
11/23
11/25
11/27
11/29
12/1
12/3
12/5
12/7
12/9

FHF (O

11/15
11/17
11/19
11/21
11/23
11/25
11/27
11/29
121
12/3
12/5
12/7
12/9

TREEESR(NO,)

—t— B F13E

—a— B E

—a— R

BF9E

—a— 525
BE=E

—s— gH#E2E
BFiE

—s— BHERR
BE=E

—— -FE

—a— HE=E

—a— EEE

ER el

—a— =25
BEEE

—s—BiEZR
BF1E

—— BEER
HRSE

12/1
12/3
12/5
12/7
12/9

11/15
11/17
11/19
11/21
11/23
11/25
11/27
11/29
12/11
12/13
12/15
12/17
12/19

10

—k— B FE

—a—H0RsE

——E2E

B

—8— %28
HESIE

—s— BHE2R
a1

—e— BH#EZR
HOEmaEiE




&
&
i

—k— B FiE
EAC)]
BFtaE
BE=
—e— BHERR
BF9{E
—— BHEIER
BES

—a— EER
—a—EE5

—s— g

A E (SPM)

s

Z-NV (EEmEnstTH)

Y

0.12

4) &

I’ Iy
il il ] o o el
= e I 47 &' foiE o= 0
B g R i = B = g
m m it @ for @ m m m m
it

9/t

s/t

v/t

€/T

(414

T/t

TE/T
0E/T
62/1
8¢/T
£t
9z/T
Se/T
¥Z/T
€T/t
T/t
TZ/T
oe/T
6T/T
8T/T
LT/T
9T/T
ST/T
FT/T
€T/T
Tt
TT/T
oT/T

FFL AN (0x)

it

9/t

s/t

vle

€T

414

/T

TE/T
0€/T
6¢/T
82/1
L2/t
9z/1T
se/T
¥Z/T
€2/T
T/t
TZ/T
0Z/1T
6T/T
8L/T
LT/T
at/T
ST/T
$T/T
ET/T
Ti/T
TT/T
oT/T

fié
L}
fié

—— B T8
=As]
B¥F91E
BE=
—a— BHERR
Bt
—e— BHERR
BRE

—a— ERE
—8— K38

—-— 05

Et=EF (N0,

0.08
0.07
0.06
0.05

0.00

it

9/t

s/t

1244

€12

414

/2

TE/T
0E/T
62/1
8¢/T
Left
9z/T
se/T
vT/T
€7/T
7T/t
TZ/1
0T/t
6T/T
8T/T
LT/T
9T/1
ST/T
FT/T
ET/T
Tt
TT/T
or/T

11



il
1@

—r— g FIE

Eis)

—— RIER
BFaE

BES
BFH1E

—&— RiER
—— SR

—e— RS

—8— 05

1@

==

BE

FF (0

2R (BIRMESHET)

0.02

5)
0.00

€/0T

T/0T

6t/6

Ltf6e

st/e

€/6

12/6

61/6

{1/6

sT/6

€r/6

T1/6

6/6

if6

S/6

£/6

1/6

0e/8

8T/8

1

—ir— 0 F1HE
—&— EER
HFHE

—-—H&E

5 (SPM)

=

E

FRH

bE Sk i

I

£ (KIETHAE)

.
¥

0.12
0.10
0.08

6) K
0.00

8/¢
Lfe
9/e
S/
v/E
£/€
z/E
T/e
87/T
12T
92/t
Erd s
¥Z/e
£2/2
Tt
12/t
0z/2
61/2
8T/C
11/T
ar/e
ST/t
¥1/e
£1/T
Tt
T1/2
o1/z
6/t
8/t

&
il

=]
=

—— HF{E

—a— HEEE
B Fh1E

—=— =25
HE

—a—AE

TFL (0

0.12
0.10
0.08
0.00

8/¢
Lfe
9/¢
sfe
v/e
€/t
zfe
T/€
82/T
12/e
9T/t
ST/T
vefe
£2/T
T
¥ 44
0z/T
6L/T
81/T
LTfT
91/t
ST/t
2974
€T/T
it
1T/T
01/t
6/T
8/t

12



—i— 0 FHE

1}
{1

B
BF1E
B4

——E2E
—8—EFR
B

—a— 0

B {EEEFR(NO,)

Sfe

bfe

£fe

z/e

T/E

82/t
Fadd
rdrd
STft
ve/fe
€2/t
eeft
12/t
0Z/T
61/C
81/¢
£1/2
a1/t
ST/t
wT/T
£T/2
[474
I1/z
o = o1/2

0.08
0.07

0.06

0.05
0.04
0.03
0.02
0.01
0.00

£
a
a

13



